
Igualdades (D)Halle los valores de cada incógnita.
1 + 3 = 2 + ⊙ ⨳ + 10 = 5 + 9
13 + 8 = ⟣ + 10 □ + 6 = 13 + 5
⦿ + 3 = 6 + 12 15 + 6 = 13 + ⧖
7 + 10 = 2 + ⌂ ⌂ + 7 = 6 + 4
6 + 7 = ∇ + 9 3 + ⧉ = 1 + 11
3 + 15 = ⧉ + 15 6 + 2 = 1 + ⧉
7 + 12 = ⌷ + 14 4 + 1 = ∇ + 4
15 + 2 = ⨳ + 12 2 + 8 = ⧖ + 1
◊ + 10 = 10 + 2 1 + 2 = ⎔ + 1
◊ + 9 = 12 + 5 14 + ⟣ = 15 + 1
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Igualdades (D) RespuestasHalle los valores de cada incógnita.
1 + 3 = 2 + ⊙ ⨳ + 10 = 5 + 9⊙ = 2 ⨳ = 413 + 8 = ⟣ + 10 □ + 6 = 13 + 5⟣ = 11 □ = 12⦿ + 3 = 6 + 12 15 + 6 = 13 + ⧖⦿ = 15 ⧖ = 87 + 10 = 2 + ⌂ ⌂ + 7 = 6 + 4⌂ = 15 ⌂ = 36 + 7 = ∇ + 9 3 + ⧉ = 1 + 11∇ = 4 ⧉ = 93 + 15 = ⧉ + 15 6 + 2 = 1 + ⧉⧉ = 3 ⧉ = 77 + 12 = ⌷ + 14 4 + 1 = ∇ + 4⌷ = 5 ∇ = 115 + 2 = ⨳ + 12 2 + 8 = ⧖ + 1⨳ = 5 ⧖ = 9◊ + 10 = 10 + 2 1 + 2 = ⎔ + 1◊ = 2 ⎔ = 2◊ + 9 = 12 + 5 14 + ⟣ = 15 + 1◊ = 8 ⟣ = 2MatesLibres.Com


